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QUESTION 1

A technician has connected a previously formatted ext4 eSATA drive to a Linux server. Given the following output:
Disk /dev/sdb: 1000.2 GB, 1000204886016 bytes 255 heads, 63 sectors/track, 382818 cylinders, total 1953525168
sectors Units = sectors of 1 * 512 ?512 bytes Sector size (logical/physical): 512 bytes / 512 bytes I/O size
(minimum/optimal): 512 bytes / 512 bytes Disk identifier: 0x0009f31a

Device Boot Start End Blocks Id System /dev/sdbl * 20481 953525168 976761560 83 Linux

Which of the following commands should the technician use to make the partition available under /data/drive0?

A. fdformat -type Linux /dev/sdbl -d /data/drive0

B. ext2 0x0009f31a /data/drive0

C. net use /data/drive0 /dev/sdb

D. mount /dev/sdbl /data/drive0

E. fdisk -I /data/drive0

Correct Answer: D

QUESTION 2

For a technician to test network connectivity to a remote host on a Unix Server which of the following commands should
they run?

A. IPCONFIG
B. PING
C. ARP
D. IFCONFIG

Correct Answer: B

QUESTION 3

Which of the following is a bus mastering method? (Select TWO).

A. A device transfers data directly to the memory.

B. A device handles mediation between the northbridge and the processor.
C. A device connects to another device without involving the processor.

D. A device transfers data to the processor and then on to the memory.
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E. A device handles mediation between the southbridge and the processor.

Correct Answer: AC

QUESTION 4

An outside contractor is hired to perform a business impact analysis of a simulated disaster. The contractor asks
stakeholders what they think a hurricane would do to the business. This is an inadequate method because:

A. the question is related to disaster recovery, not impact analysis

B. the question is subjective and does not represent a complete business impact analysis
C. it is impossible to perform an impact of anything simulated

D. hurricanes vary in intensity, so the business impact is always unknown

Correct Answer: B

QUESTION 5

A technician is installing a new server with redundant power supplies in an 1ISO-certified datacenter. Which of the
following should the technician perform?

A. Determine the maximum power load

B. Connect each power supply to separate power circuits

C. Connect each power supply to the UPS

D. Run a drop cord from an unused outlet and attach the power cords

Correct Answer: B
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